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QL. For the communication channel shown. Al and A2 are sent are sent at the transmitter , the received
values are B1 B2 and B3, P(A1)=0.4 and P(A2)=0.6.
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Find:

a) The P(B1), P(B2) and P(B3).

b) Given that the received value is B3 find the probability that it came from Al.

¢) Knowing that B1 and B2 are the correct reception of Al and A2, respectively. Find the
probability of error for this channel
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Q2. 1f X is N(0,4); find,
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fx(x) = Clu(x) - u(x ~ 10)] + 0.25(x — 5)

X R K
S \w
N Find th constant C such that fx(x) is a valig density function. e
Find and sketch Fx(x).

¢) Evalu eP{l<x< 5}.
d) Evaldate P{x < 5}.
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Q4. A pair of dice is rolled n times.

a)
b)
c)

Find the probability that “seven” will not show at all.
Find the probability of obtaining double six at least once.
For part b), find the minimum number ofthrows uired to assure a 50% success of obtaining

double six at least ones. ;
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Table B-1 Values of F(x)for) S X S .89 in steps of 0.01
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